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— 7w noul YRR N7 POYNR
He is preoccupied in regard to taking a life

OVERVIEW

The %) answered the reason there is no 211 for w1 N2°v1 by one who is y¥197
1191 is because he is a poynn.! Our nvoIn clarifies what is meant here with the
term pPoyNA.

- PYNY 2395 25N NN POYNN KNT NPT IND POYNN SN
This term pownm, which is used here, is not precise, for w'9 maintains that

717122 POYNR is 2991 (and Anwi n>wl is included in 7M2am). NvOIN provides a source for this
ruling -
= 2MP1NY NN (3,00 M) YN POD P9 9102 9INT
For 1nm1 21 said in the end of 228 po% pAp, ‘let go of the case of NN -
- 2950 593 POYNN 29N “NNANA 9PYPM HININ
For since v'" maintains that ;7722 »popn is 2, therefore poynn is also 2717°.
- 2590 193N YPYPNRT 9991 51D YWY TIIONT (1 1ps) FIINNA 45957 NIYO)
And the reason we compare poynn to 2p%pn is, for regarding 7M2n2 HPopn, we
derived in 3877 P75 (according to ") that since it was necessary for the 770 to

permit 7%°% on n2w, we can infer that 57712m2 ®popn is 29977 -
= NAYNN NINYNY 1PUNN X

And we are not concerned that a (712112) 9P%Pn is not a NAWMA NORYA, rather we
maintain that even though it is not a nawn» NoX?», nevertheless he is 2. Now mooin proves that

' The term poynn usually means if one was preoccupied with doing a 2n°7 727, for instance cutting v2n, and
accidentally he cut 721 (or according to NN even if he intended to cut one 1211 and he cut another 712117). See
11501 7"7 2,2y Moo, However our case here does not seem to fit into the category of povnn. [In fact he was intent
on removing the blood which (seemingly) is the 7287 of nw1 no°v1.]

2 x21 there asked 1" how can we say that povn» is 7105 when there is the case of two babies (Mp1’n) one needed to
be 71 on naw and the other on Sunday; by mistake they were 9» the Sunday baby on naw, the rule is he is 211 even
though he is a poynn (he intended to be 9 the naw baby). 1" answered him that the 95 of poynn is not applicable
in the case of mpwen.

3 ©popn means doing a destructive act. Generally 9p%pn is 79 by all other mox7». However regarding burning
(7°van) and 2211 (wounding) there is a dispute between w"1 (who maintains that 772721 7712m2 9P5%pn is 21) and °"
(who maintains he is 7w»).

4 The XN™MIXT MOX in 73212 XPW 72° on NV is on account of 9211 or MWw1 n2°01 what we refer to here as a 712, We
know that by a 7™2n there are different guidelines, for even though nawa 5p%pn is always "o (it is a destructive
act), nevertheless 7M2ana Hpopn is 270 (according to w'"), therefore poynn is also 2°°11 as '0In continues to explain.

5> The 710 writes (in 3,2* ¥710] RIP7) N2 Wwa 2w 1w 1) the (extra) word o2 teaches that a (7aa12) 790 is
naw 7m7. Indicating that any other 7711212 2p%pn is 2°1. For otherwise why do we need a P109 to permit 7% on naw
(since he is 2p%pn; he is hurting and wounding the baby). See the X3 there for s response.
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the reason why generally 7p2pn is 7109 is because it is not a NAWNN NIXA -
— (@, 91 DAINT KDY 799 9102 9INTI NIYNN NINYM DIVA XIN 1099 Y NIYYT Ym0t

For generally »p9p» is 915 only because of the requirement that moX?» need to
be a nawnm noRYA as the X3 states in the end of the first pap of 7331 noon.

In summation; 7p%pn is M since it is not a Nawn» nax71.® Nevertheless the 710 needed to give
us permission to be 72 on naw, for without this permission we would not be able to be %1 on naw
even though we are 7712n2 Yp%pn. This teaches us that regarding 77120 there is no leniency for
oPpn, because by 7712n there is no need for nawmnn naxYn. It follows therefore if there is no
requirement for nawmn» NoX5n by 71120 (and therefore 7Mana Hp%pn is 2°n) there is also no 7w
for povnn, since the Mo of povnn is also only because it is not a nawnn noxY». Therefore we
cannot say that the ¥¥19 of the 1771 is 709 on account of (the ‘regular’) povnn, since 7712M2 POvNN
is 27n.’

moon explains what is meant by poynn here:
- $15)9571 PRY 937 13597 RINT DOYNN)

And the term poyn» here means 191on» PPRw 927 (he is doing something without
any intent); it is W0 -

- NAYNNI NINYM SPa KT 9 Y AN 199202 199N 91 NANYNIY 593 119510 PNT 199
Since he has no intent at all to do a 175852, it is permitted even by 77712m7, even

though that 711217 does not require Nawn» NOXR, (so one may think that 7M> is not

required) nevertheless mnw1 N1 requires 7113 and if there is no 712 it is NN -
- 19195 PPN 19V SNAWNM NINYN 1N 7O NYT HINAY DINOIN Y3 M5

Just as it is by all the prohibitions in the 77In, where the concept of nox2

nawnn is not applicable, nevertheless 1912n% 19K is permitted by other o0 -
= (71 070 NY3) 991D NN 2391 NNPNA 119155 XOYW T253) 1999975 199910 7D 299 9INT

As the 71wn states, ‘those that sell garments of 1wyw, they may sell in their

6Tt is not a thoughtful productive act. It is destructive.

7 The reason (7°¥am)) 921m do not require NIWnn nax?» is because inherently they are destructive acts, and

nevertheless the 7110 forbade them; indicating that these two moX%7» do not require NAwn» NIR7A.

8 The v¥ has no intent at all to kill the 7779; all he wants is to extract the blood/dye. This is considered 11301 °X.

[The & nx shortly asks but it is 7w °09, which is 2°1.] A case of poynn would be (according to m»oIN) where he

intended to kill one 11171 and accidentally he killed another one. Or where he wanted to squish a dead 17771 and he

squished to death another live 1on. For these acts he would be 21, even though he is a poynn (see footnote # 1).

% The requirement that it needs to be a Nawn» Nax in order to be 27 is limited only to Naw nax%», which we derive

from the 1own where the 70 writes (32,72 [27p"] Maw) nawnn naxon; however by all other 210X there is no such

requirement, but nevertheless by the other 2*110°k there is the 707 of 1>nn 1°X. The same applies to 77121 that even

though there is no w5 of (nNawnn NoR?1) povnn there is a N7 of P1oNA K.

19 The merchants would wear the clothes they are selling. The mwn teaches that the merchants may wear the 10vw

clothes as long as they are not 112nn to derive any benefit from them.

' We see that there is a 907 of 1207 X, even though there is no requirement of Nawn» NaR?» regarding TWYW MNOX.
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normal manner, provided they have no intent to derive benefit from these
garments in the summertime to protect them from the sun, etc.” —

mooin will prove that even where 9p2pn is 27n, nevertheless 11207 X is nn:
= 4215 *99aN 047 139199 N8N ON 99NRT (3,n 91 225M2INaT NNIP 7992 NN 1)

And so it is evident in the first P22 of n1210> Noon where the X3 states, ‘even if

we assume that the blood is attached; so seemingly he is 21, nevertheless the question is -
— 150598 N7 INY NNINY IN P98 Ny O1Y

Does he require the blood to verify that she is a 7712 (so he is 2°11), or he

requires the 71X°2 for his own pleasure so it is 7120» PX (and he is M) -
— PYNY 295 NAYN IN 16ATINY Y295 NN TI9N NIN XY NNINY 911D 8NN ON)

And even if you will assume that he requires it for his pleasure, so seemingly it
is 1>onn PR, nevertheless the question is whether the 729 is like 5''= (so it is 70K),

or like @' (and it is "nM) -
- 199901 PRY 9372 w9

The explanation of what is meant by this argument between w"1 "7 is regarding

something which is %1202 J°R. The X3 continues -
- YN N9YN YPYPNA PIANN PRY 9373 NN 5299 15N 919 NENNH ON)

And if we assume that the ;72977 is like "' by a M2n» PR® 927 (so seemingly he
would be MoR, nevertheless), the question still remains according to whom is the

ruling regarding ®pp»’ (whether 7m12na 2p%pn is 20 or Mwo). This concludes the X,
- 185555598 21909 X2OY 11 11951 PRY 1272 PINY 2395 NaYN INT ¥HYUN

It seems that if the 715%7 is like @''1 regarding 1207 °X there is no more reason

to ascertain what the ruling is by »popn -
9 199919505 PPNT 123 29N NNANA YYD 1999NT

12 The Xm3 there is discussing whether one may be 312 a 72102 on Naw, since he causing her to bleed the o°71n2 o7
by making a 7712n.
13 There is a possibility that the 27112 07 is 7°pd 7po°n it is merely enclosed in a sac but it is not attached to the body
like regular blood. In that case it would be permitted because he is not making a 7™2an. The query is if we assume
that 22r°» *2an a7 (it is like regular blood where making a 772n causes it to bleed).
14 Then in his 1782 he is 1201 to make a 71121 because he wants the o7 to know that she is a 7102
15 This would make the 7™M2n a case of 7120 X he is not interested in making a 7™M2n, just the pleasure of 7xo2.
16 5" maintains 11907 1X¥ 727 is MO, while ¥"1 maintains it is 0.
17 The term w10 here is rejecting the notion that the X3 is referring to the NP7n between "1 W™ in APRY 7987
TOWY 15°X (or 7722 YpYpn).
18 The X7m3 only queries what is the ruling by %p%pn if we assume that the 71997 is like > by 712n% 7R, however if the
1597 would be like w1 by 1m2n% PR, it would make no difference what the 7397 is by 9p2pn, for either way he will be
aMn since he is 1207 PR.
19 This proves that even though we are dealing with a 7o%%n (of 7™2am) where there is no requirement that it be a
nawnn noXon, nevertheless if he is 11207 X it is 9mn. This is what is meant by poynn here; he was 11207 PR.
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For even if 1m12m2 popn is 27, nevertheless since he is 312n% X, it is permitted.

SUMMARY

%P%pn and poynn are WD on NAW only because it is not a Nawnn NoXYx. This Mo is
only by naw, but not by other 2>mo°X. However the 7n°17 of 1™M>nn X is by all
MoK, therefore even by 1Man where 9p%pn and poynn are 21, nevertheless PR
T™32n7n is N (according to w').

THINKING IT OVER
If the meaning of poynn here is 1120 X, why did not the X1 say explicitly X
T™>nn?120

20 See poynn X3 7"72 012N 1.
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